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1. Sl 9T drell BYd ® 1. Shallow rooted crop is :

(A) T (A) Sugarcane
(B) U (B) Cotton
(C) ©dR (C) Sorghum
(D) 4 (D) Paddy

2. 3Iddl B B 2. Acatchcropis:
(A) iR (A) Toria
(B) HIg, (B) Tobacco
(C) @™ (C) Cotton
(D) = (D) Sugarcane

3. T qH @I SIS B IR T - 3. Type of ploughing of slopy land is :
(A) Th & WP hg Mdld? T (A) One-way furrow ploughing
(B) fhN ¥ @5 oI s (B) Side to centre ploughing
(C) &= ¥ IR I Jarg (C) Centre to side ploughing
(D) Suga H A Pl Tl (D) None of the above

4. FHNT BHA B : 4. Non-aerable crop is :
(A)  3Tef (A) Potato
(B) = (B) Sugarcane
©) (C) Wheat
(D) faar (D) Cowpea
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5. 3G YURERY dMIR! TEl & 5. Excessive tillage is not advantageous :

(A) lare & i 4 gig (A) Increase in oxidation of organic
matter

(B) ¥aI WA H GEIR (B) Improvement in soil structure

(C) Hal W—?ﬂﬁ Gl cc-he (C) Breakage of soil aggregates

(D) HaT ol Tq Ja¥al H ECIN] qu',l'(‘l\?l (D) Rechanging in soil moisture and
fertility

6. a9l HIGH Bl ez A B 6.  Disadvantage of rainy season ploughing
IS:

(A) ¥aI Iavar o fRrae (A) Decline in soil fertility

(B) XdI I wHAl g HaT BT AN (B) Preparation of soil for Rabi crops

(C) AT H Tel TReTo (C) Water conservation of rains

(D) ®9Hd IS} BT ST (D) Burning crop residues

7. WG qURSRT H sTH W @ T 7. Which of the following is not included in

afafor & 2 conservation tillage ?

(A) I YRR (A) Zero tillage

(B) YUR@RY H FHHI (B) Reduced tillage
(C) UeTaR YURHRUT (C) Mulch tillage

(D) UHfeTd YURSHROT (D) Conventional tillage
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8.  duf anf¥a az‘[ﬁ H faoies &1 89%d 2 - 8. The area of oilseeds under rainfed

agriculture is :

(A) 60% (A) 60%
(B) 80% (B) 80%
(C) 87% (C) 87%
(D) 90% (D) 90%
9. Y Wil &F H qW B WR & 9. Dry farming area having the rainfall
range of :
(A) 375-1125 A (A) 375-1125 mm
(B) 12001500 . (B) 1200-1500 mm
(C) 1500-2000 A, (C) 1500-2000 mm
(D) 2000-2500 T, (D) 2000-2500 mm
10. ¥Rd H yRifId Wl & 2 - 10. In India area under rainfed farming is :
(A) 25 fferT g (A) 25 Mha
(B) 55 fferd gaR (B) 55Mha
(C) 65 Mferd gae (C) 65Mha
(D) 75 fAferT g (D) 75 Mha

11. 9Rd &I d8 Urd ddisv foreH qar @ 11. Less drought affected state of India is :

T T E

(A) R (A) Haryana

(B) dHeTg (B) Tamil Nadu

(C) T (C) Telangana

(D) o wewr (D) Himachal Pradesh
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12.

13.

14.

R H @ @1 YTd (6w Scred
R Jedl & ?

(A) F

B®) T

(C) Teferl BHel

(D) faete wael

URA @ o IAled H YW &Fl Bl

ARTSTT & T4

(A) 20%
(B) 40%
(C) 60%

(D) 80%
URd H <9 99 B AR § T I 98
Ul @

(A) 1-2

(B) 2-3
©)

(D)

AGRON-5008
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12.

13.

14.

In India drought affects the production of

(A)

(B) Wheat

Pulses

(©)

Oilseeds

(D)

The contribution of dryland area to food

production in India is about :

(A) 20%
(B) 40%
(C) 60%

(D) 80%

The occurrence of dry years in 10 years’

period in India is about :

(A) 1-2

(B) 2-3
(©€)

(D) 45
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15. 451 FORAT 7q ol A dia AT Sfd 15. The process for seed soaking in water is

o TS & undesirable for seed hardening :

(A) IR-IR T 9 SISl (A) Repeated soaking and drying

(B) UNG I Ol § AT (B) Soaking in nutrient solution

(C) a1 # T (C) Soaking in water

(D) R M I @ RS 99 | (D) Drying soaked seed more than its
e kel original moisture

16. 91 HORAT gf§ TG U IERA @ : 16. Unsuitable chemical used for seed

soaking to enhance hardening is :

(A) TR TINTES (A) Potassium chloride
(B) WEHRIA (B) Cycocel
(C) URRRM SIS (C) Potassium dehydrogen
(D) TgNilferad (D) Tetrazolium
17. H< ¥d8 Rggrg <fed <om w9 9@l 17. Tensionless condition of soil surface
FETHTST T W TR § when all pores are filled with water is :
(A) STEIRU T (A) Water holding capacity
(B) &= &war (B) Field capacity
(C) U gar =4l (C) Auvailable soil moisture
(D) Wl WM fog W) T (D) Moisture at permanent wilting
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18.

19.

20.

&I AREIV ThADh] BT del g a1 ae

(A)  <Tg 3rTe

(B) rorgel

(C) Tl Bl

(D)

W AR, g, €1 U Red 2
(A) SR A

(B) % faeell ¥

(C) aEvIgd
(D) TXEIE H

WA TEA Bfedo=al e

(R & W ) 9 Aw < g
yHTd B fory el ¥Ed € 7

(A) [deleT oaar sRIegeA

el ForTgie Red Ao BHdl

(B)

(C) @A BRI WX
(D) Bl ATdC

AGRON-5008

(8)

18.

19.

20.

Compartmental ~ bunding  in  soil

conservation technique is unsuitable for

crops :
(A) Millets
(B) Sunflower
Pulses

(©)
(D)

Sugarcane

The location of CRIDA is at :
(A) Jodhpur

(B) New Delhi

(C) Dehardun

(D) Hyderabad

What is not to support Real Time
Contingency Planning (RTCP) in any

crop season for minimum drought effect ?

(A)

Village Level Institution

(B) Village Climate Risk Management

Committee

(©)

Custom Hiring Centre

Local Markets

(D)

Set-A



21. &F &9l Ud WM 45 & " @1 Hal
el BT @ :
(A) W T
(B) TS TIel
(C) U ol

(D) PR Tl

22. W% ANGA H 9@ W q9 g dN-aR

refl IO H SFTE B ©
(A) g gl g= fas

(B) NI

(C) T

(D) HUN

23, WRA & Y Ud RS Al H JHEHRI
GIRCIGL I

(A) 25%
(B) 50%
(C) 60%

(D) 70%

AGRON-5008
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21.

22.

23.

Soil water between field capacity and

wilting point called is :

(A) Free water

(B) Bound water

(C) Awvailable water

(D) Non-capillary water

For drought avoidance in Kharif season

unsuitable crop for alternate strategy is :

(A) Early rice varieties

(B) Pearl millet

(C) Blackgram

(D) Cotton

The average seasonal rainfall to be

effective in arid and semi-arid regions of
Indiais:

(A) 25%

(B) 50%

(C) 60%

(D) 70%

Set-A



24, f=faRad wetl § 999 3ifdd ool |07 24. Which of the following crops has

foaar g ? maximum water requirement ?
(A) w4l (A) Mustard

®) T (B) Wheat

() T (C) Berseem

(D) TR (D) Lentil

25. Rioms W § IRME @ Arsal @ 9= 25. The accepted limit of  Boron

& & concentration in irrigation water is :
(A) 033 4. 4. T, (A) 0.33 ppm
(B) 050 4. 4I. UH. (B) 0.50 ppm
(C) 1.00 9. 4I. TH. (C) 1.00 ppm
(D) 133 4. 4. TH. (D) 1.33ppm

26. RAE a7 997 & 48 ¥ 72 GUC 15 L] e 26. Water movement in soil after 48 to 72

hrs. of irrigation or rains is called :

STel Aol P ©

(A) IRE = g (A) Initial wilting
(B) & & (B) Field capacity
(C) Wl WM fdg (C) Permanent wilting
(D) @ e (D) Tension slope
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27. WAl /XS ¥ T SUNIATG SUANT @ WX 27. The consumptive use of water in rapeseed

3. mustard varies from :
(A) 100—150 fHA. (A) 100-150 mm
(B) 150—200 fHH. (B) 150-200 mm
(C) 200—300 fHH. (C) 200-300 mm
(D) 300—400 A, (D) 300-400 mm
28. T BT STMdNT © : 28. Water requirement of sugarcane is :
(A) 50 THI. /I (A) 50 cm/ha.
(B) 100 I /TRI; (B) 100 cm/ha.
(C) 150 ¥, /BRI (C) 150 cm/ha.
(D) 250 JH. /TR (D) 250 cm/ha.
29. SICHNT AT Bl 7 - 29. Minimum water requirement is for :
(A) TG Bl 7] (A)  Kharif crops
(B) ©¥q Lrercl| %@ (B) Ziad crops
(C) &I Bl ?@ (C) Rabi crops
(D) Suga H A Bl 7Tl (D) None of the above

30. SIEU-uREw AR @ 99l &7 INTH B 30. The contribution of S-W monsoon rains

is:

(A) 60-80% (A) 60-80%
(B) 80-90% (B) 80-90%
(C) 90-95% (C) 90-95%
(D) 95-98% (D) 95-98%
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31. Wigfdd ariexel Jed 69 amdl it g 31, Evaporimeter showing reading close to

natural evaporation :

@1 3ifbeT & ?
(A) I TH. g . (A) U.S.W.B.
(B) T WhIF (B) Sunken Screen
©) (C) Pitche
(D) gHIHIeR (D) Lysimeter
32. &I B! SR e NS Jeadl @ : 32.  Water holding capacity of soil is more
increased by :
(A) URME qURERT 4 (A) Primary tillage
(B) HAT A (B) Mulching
(€) I @ e | (C) Summer ploughing
(D) SFTURSHRT | (D) Interculture
33. U ZICA Y<HIeY o NN @ ¢ 33.  One hectare centimetre water is equal to :
(A) 1000 eilc (A) 1000 litre
(B) 10000 ilc (B) 10000 litre
(C) 100000 @lex (C) 100000 litre
(D) 150000 @lex (D) 150000 litre
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34, U B YA Sl BT © 34. Water available to plant is :

(A) DRI (A) Capillary
(B) STeTTR! (B) Hygroscopic
(C) TowHy (C) Gravitational
(D) =TS (45) (D) Bound

35. IS A& YW YA B A a1 H T 35. Red soils in drylands do not have the

A ¥ characteristic of :
(A) HIRT (A) Compactness
(B) M Wcg ¥ T (B) Soil surface sealing
(C) pH ¥R 58-6.7 (C) pHrange 5.8-6.7
(D) ¥de Wcld (D) Surface cracks
36. R A i auf g1 2 36. Average rainfall in India is :
(A) 700 TFHT. (A) 700 mm
(B) 850 T, (B) 850 mm
(C) 1170 T, (C) 1170 mm
(D) 1520 fAH. (D) 1520 mm

37. YR ¥ YT b az‘fﬁ MY G P 37. First Dry Farming Research Station was

FOINEI g-g‘ off established in India in :
(A) 19234 (A) 1923
(B) 1930H (B) 1930
(C) 19334 (C) 1933
(D) 1934 % (D) 1934
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38.

39.

40.

41.

AGRON-5008

g8 o¥ o wWageW Y quRwRe 38,

PIRG] ‘g’?ﬂT :

(A) Srsfer
(B) I W. T
(C) AfeIPd!

(D) S

qmshA H gig (1-2° ) el gRIAT 39.

(A) BFAl DI STTHN
(B) el dI HHI
(C) ®Ad & T

(D) W U

fgu Riarg qondl © 40.

(A) Tl SYINT &l

(B) WRUTAR BT Helld
(C) %M@ 3awadmal
(D) TTEIHROT  BIf+T

IRd § Rifrd &=l ufaed @ : 41,

(A) 20
(B) 40
(C) 50

(D) 60

(14)

The country where zero tillage was first
started :

(A) Australia

(B) U.S.A.

(C) Mexico

(D) Japan

Rise in temperature (1-2°C) will not

enhance :

(A) Water requirement of crops
(B) Water scarcity
(C) Crop diseases

(D) Crop yield

Drip irrigation increases :
(A) Efficiency of water use
(B) Spread of weeds

(C) Labour requirement

(D) Evaporation losses

The percentage of irrigated area in India
IS :

(A) 20

(B) 40

(C) 50

(D) 60
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42. 3 qURERT 42. Blind tillage is :

(A) URMPE YRR (A) Primary tillage
(B) T HHA H TSg (B) Hoeing in standing crop
(C) 9 e b U4 TeTs (C) Hoeing before seed germination
(D) TH H \_{l‘rﬂﬁ (D) Ploughing in summer
43. U H AfSpdd S SUCTErT Bl @ 43.  Maximum water availability to plant is
at:
(A) 40% R (A)  40%
(B) 50% R (B) 50%
(C) 75% R (C) 7.5%
(D) &3 g9l W (D) Field capacity
44. TIoc BT S ATHR BT 2 44. Particle size of silt is :
(A) 0.1-1.5 7. (A) 0.1-1.5mm
(B) 0.2-0.02 T, (B) 0.2-0.02 mm
(C) 0.02-0.002 f#H T, (C) 0.02-0.002 mm
(D) 0.002-0.003 fA. (D) 0.002-0.003 mm

45. IR H‘ﬁ aﬂqﬁ-‘[ %@ T TR 9T 45.  What is not of general use in recharging

2T g ? groundwater ?
(A) TURER (A) Ponds
(B) dietid (B) Tanks
(C) d1 gRT T@rdc (C) Check dams
(D) &Y (D) Wells

AGRON-5008 (15) Set-A



46.

471.

48.

49,

AGRON-5008

fq1 S ST WRd b B fharl

gRT dI5l qa1§ 8] AW USRI &
fafer g &

(A) WS fgot
(B) TURNI

C) ¥ VS
(D) feafer

a7 @ {aE W AR ¥ el o Bl & |
(A) Ul # Scded

(B) ¥aI ¥ ARyl

(C) el # vaud fopm

(D) U # GepTII-ATeAuoT

WSl H ol U 9d & Yae @
fomar 7

(A) AN Tl

(B) ISl gRT 9T

(C) Y9R TN

(D) TATHYY

SN YR S | Al AET oAau
BT M JI T AaRE T -

(A) 3%

(B) 6%

C) 8%
(D) 12%

(16)

46.

47.

48.

49.

A method for minimum tillage to sow
seeds without tilling the land followed by
some farmers in North-East India is

called :

(A) Seed drill
(B) Pora
(C) Hoe and stick

(D) Dibbling

Soil surface mulch reduces water by .......

(A) Transpiration by plants
(B) Evaporation from soil
(C) Respiration of plants

(D) Photosynthesis in plants

Process of water entering roots with

soluble salts is :
(A) Mass flow
(B) Root interception

(C) Diffusion pressure

(D) Osmosis

Extra water over consumptive use is

needed for leaching salt is :

(A) 3%
(B) 6%
C) 8%
(D) 12%

Set-A



50.

51.

52.

53.

AGRON-5008

R arell aui @1 arjuRafd ¥ W
A B

(A) 10 f&a

(B) 15 fad

(C) 25 faA

(D) 30 faA

‘grore’ Rerd &

(A) A

(B) VR H

(C) R H

(D) STy #

frfoRad o | #ex ol RiEE &g Hiis
WR DIF-91 T © ?

(A) T 3T

(B) el WA 9HY

(C) URMG IRIT Mo 93

(D) T US4 & RN W

PTell T & G Tl 8
(A) 1.7 L
(B) 22 f#HI
(C) 256 fAH.
(D) 265 A,

(17)

50.

51.

52.

53.

In absence of wetting rains the period of
dry spell is :

(A) 10 days

(B) 15 days

(C) 25days

(D) 30 days

‘KAZRI’ is located at :

(A) Pune

(B) Jaipur

(C) Jodhpur

(D) Sholapur

Which of the following is not the critical
stage of irrigation in pea ?

(A) Flowering

(B) Pod filling

(C) Early branching

(D) Chances of frost

Particle density of black soil is :
(A) 1L.7mm

(B) 2.2mm

(C) 2.56 mm

(D) 2.65mm

Set-A



54. I8 HaT foTH TRIGSIE 50 Y @ -

(A) T

(B) g T
(©) Ffvar qre
(D) I it

55. & WM &I B B :
(A) T
(B) UM
(C) g
O 7

56. Ud @l ARY] HHd @ :
(A) T
B®) 7

(C) 3Tef
(D) UM

57. 5. I IR, 3. T, U 3. gRT WM

T EReur 2 @ fafdy et g ?
(A) IS ST G fafe

(B) W A

(C) o fAwid Sars

(D) 3Uell YURERYT FARY

AGRON-5008
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54.

55.

56.

57.

Soil having porosity percentage of 50 is :
(A) Sandy

(B) Sandy loam

(C) Clay loam

(D) Heavy clay

Crop of low water requirement is :
(A) Gram

(B) Berseem

(C) Potato

(D) Wheat

A drought tolerant crop is :
(A) Pearl millet

(B) Wheat

(C) Potato

(D) Berseem

What measure for moisture conservation

insitu was evolved by ICRISAT ?

(A) Broad based furrow system
(B) Contour ploughing
(C) Ploughing against slope

(D) Shallow preparatory tillage

Set-A



58.

59.

60.

AGRON-5008

AT 9 o 10-30% a/fvd 4R 58,

e a1 & e R § wfdRE T8
g

(A Ffarer

(B) 99 dRNTE

(C) WRIATeTT

(D) I T

YRR & WG H FaT B HU qas § - 59,

BT ¢

(A) %@ WA T
(B) @9 W[ €
(C) 3M® Gl TEHI

(D) ®H Sl e &Hal

I W W W BT a9 Ul T, @1 60.

(A) 05
(B) 1.0
(C) 20

(D) 25

(19)

Watershed development of degraded soil
having 10-30°C non-aerable land tend to

exclude :

(A) Agroforestry

(B) Silvipastoral

(C) Animal Husbandry

(D) Dairying

In no tillage condition the soil surface

layer have :

(A) High bulk density

(B) Low bulk density

(C) Higher total pore space

(D) Low water infiltration

The tension of water at the upper limit is

equivalent to PF value of :

(A) 05
(B) 1.0
(C) 20

(D) 25
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA b IR GRITad StR—
A,B,CTd D | Wemdi & 89 9 fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3. TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 f 9 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADET T 3 H, H-IR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, Yok qel HegerR

B o ST 9T SHBT SN HRAT Iroid 2 |

T & faval U9 3o SurRer § =TT 8 @l
I H YT BT U WURYT & A BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
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